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Define square roof of aige}::raic expressions.
Defipe absolute value of a real number.
Solva the equation ?I +4=)

ihe line 2y + 3= 2 parallel to x - axis,

«ress the line Jx + y -1 =0 in the form of
/=mx+ ¢ andfind values of m and c.
Write the names tjf any four polygons.
Write the names of different kinds of a triangle
depending on the lengths of the sides.
Find tha mid peint of the line segment joining the
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Define ratio.
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State inverse of pythagora's theorem.

\What Is rectangular area

Dafine concurrent point,

Construe! a triangle XYZ in which

mXY =5.5cm mZX = 45em mZZ=90"

Note: Attempt any three quastions. But Q.No 9 Is compulsory.
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Solve the equations by using Cramer's rule 4x +y =9
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Simplify (004)); |

Find the value using logarithm

i X = 2443 find the value

Factorize by Factor Theorem X'+ 5x'- 2x - 24

X -y=-5

Use division method, to find the square root of the

axpression Ox'- Bx" # T« 2x + 1

|-2x
Solve the inequalty =3 < T <]

Cnnstruct the A ABC in which
mAE=4 Bem, rnBC 3.7cm; mL B=EB
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Prove that parallelogram on the same base and

between the same parallel lines (or of the same

alfitude) are equal in area.
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